ORDER #004973



Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

Culinary Creations by Chumie

PO: Kai Ribak Bat Mitzvah Shipping Address: 100 S June St., Los Angeles, CA 90004 Order Date: May 15, 2024 Due Date: Upon Receipt

Description		Qtty	Price		Total
General					
	Banquet Table, 4' Washing Table	1	\$10.00	Т	\$10.00
	Velvet Linen, 6' For Washing Table	1	\$40.00	Т	\$40.00
	Pipe and Drape - 12' Color: TBD To cover gate	1	\$144.00	Т	\$144.00
			Total General		\$194.00
Entrance					
	Carpet Steps - 12' x 14' Color: Hot Pink	1	\$344.40	Т	\$344.40
			Total Entra	nce	\$344.40
Lawn Area					
	White Dance Floor, 12' x 24'	1	\$936.00	Т	\$936.00
	Dance Floor Decal - "Kai Logo" + Hearts Full Wrap Full Wrap - 12' x 24'	1	\$2,016.00	Т	\$2,016.00
	Highboy Cocktail Table, 30"	3	\$12.00	Т	\$36.00
	Low Cocktail Table, 30" Rnd Sign In Board	1	\$12.00	Т	\$12.00
	Velvet Linen - 120" Rnd - Blush	4	\$45.00	Т	\$180.00
	Chiavari Chair - Pink For Dog Tag Station	3	\$7.00	Т	\$21.00
	Banquet Table, 8ft For Vendors: (1) Dog Tags (1) Sensory Kits	2	\$12.00	Т	\$24.00
	Banquet Table, 4ft Photo Booth	1	\$10.00	Т	\$10.00
	Chanel Curved Sofa, Teal	2	\$275.00	Т	\$550.00
	Cara Club Chair, Pink Boucle	2	\$200.00	Т	\$400.00

Description		Qtty	Price		Total
	Ottoman, Teal	4	\$55.00	Т	\$220.00
	Nixon Coffee Table, White/silver	1	\$125.00	Т	\$125.0
	Decal - Hearts Logo For Coffee Table	1	\$50.00	Т	\$50.0
	Dj Booth - 6ft	1	\$250.00	Т	\$250.0
	Decal - Logo - Dj Booth	1	\$75.00	Т	\$75.0
			Total Lawn A	rea	\$4,905.0
Cement Patio A	Area				
	Custom Swag Shop - 24' x 8'h Per Rendering	1	\$5,450.00	Т	\$5,450.00
	Sconce - Square Gold, White Shade	4	\$75.00	Т	\$300.00
	Bar - 8ft To Serve as counter for handing out swag shop items	2	\$350.00	Т	\$700.0
	Swag Shop - Decals - Kai Logo	2	\$50.00	Т	\$100.0
	Custom Dessert Back Bar - 4' x 8' Per Rendering - Arches Color: Pink	2	\$850.00	Т	\$1,700.00
340	Los Angeles Bar, White - 8ft	1	\$350.00	Т	\$350.00
	Decal Full Wrap Bar	1	\$275.00	Т	\$275.00
	Hard Set Wall - Free standing - 4' x 8' Install Hooks for Luggage Tags Color: Teal	1	\$375.00	Т	\$375.0
	Custom Bar Facade Price Based On: Wood Facade in Teal Color Face: 166" x 43.5"h Side: 34.5" x 43.5"h Side: 111" x 43.5"h Teal Facade w/ Kai Logo + Pink hearts all around.	1	\$625.00	Т	\$625.0
	Crystal Sphere Chandelier - Small	2	\$175.00	Т	\$350.0
	Crystal Sphere Chandelier - Medium	2	\$225.00	Т	\$450.0
	Crystal Sphere Chandelier - Large	3	\$275.00	Т	\$825.0
		Tota	l Cement Patio A	rea	\$11,500.0
Reception					
	Carpet - 2060 sf Carpet Court Area + Steps Color: Hot Pink	1	\$4,305.00	Т	\$4,305.00
	White Dining Table - Round - 66"	10	\$175.00	Т	\$1,750.00

Description		Qtty	Price		Total
	Decal Full Wrap - Round Table	10	\$150.00	Т	\$1,500.00
P	Ava Dining Chair, White Channeled Boucle Round Table Seating	16	\$25.00	Т	\$400.00
	Infinity Banquette Sofa, Teal 8ft	2	\$350.00	Т	\$700.00
	Infinity Banquette Sofa, Teal 8ft	1	\$350.00	Т	\$350.00
	Banquet Table, Queen	3	\$18.00	Т	\$54.00
	Hard Set Wall - 4'x8' - Free Standing Pink To Cover Kitchen	3	\$150.00	Т	\$450.00
Ι	Acrylic Podium	1	\$150.00	Т	\$150.00
	Podium Decal - Kai Logo	1	\$25.00	Т	\$25.00
	Patio Heater - with Black Cover	8	\$90.00	Т	\$720.00
	Propane	8	\$35.00	Т	\$280.00
			Total Reception		\$10,684.00
Garage/Kitchen					
	Astro Turf - 16' x 16' Garage Floor Cover Catering	1	\$295.00	Т	\$295.00
	Banquet Table, 6ft	6	\$12.00	Т	\$72.00
	Table Riser Sets	6	\$0.00	Т	\$0.00
	Velon Cover - 6' Table	6	\$10.00	Т	\$60.00
		То	Total Garage/Kitchen		\$427.00
Services					
	Trucking Fee	2	\$350.00		\$700.00
	Install Crew - Day 1	8	\$240.00		\$1,920.00
	Install Crew - Day 2 (If Needed)	4	\$200.00		\$800.00
	Strike Crew	8	\$300.00		\$2,400.00
	1.5% WC Fee	1	\$444.99		\$444.99

Notes

Discounts:	(\$4,208.16)
Total:	\$30,111.23
Payments:	(\$0.00)
Balance:	\$30,111.23